Which relationships are linear?

a) Quantity              Profit
0 $0

1 $1,500

4 $6,000

9 $13,500

b) Quantity

Metal Used

0 0 oz

1 8 oz

2 18 oz

3 26 oz

c) Quantity                   Fixed Expenses

0 $3,000

1 $3,000

        3                           $3,000    

        5
                         $3,000                                                                                                                                                                                    

e) Quantity               Metal Used
0 0 oz

1 8.5  oz

4 17 oz

9 25.5 oz

 Which relationships are linear

a)   y 3x-7                  b)  y=$4,000

Which relationships are perfectly linear and which are not:

Quantity                  Metal Used

7 17.5 oz

0 0 oz

9                               23.5 oz

3                                7.5 oz

Quantity                   Fixed Expenses

 3 oz                                 $4,200

 0 oz                                 $4,200

 5 oz                                 $4,200

 1 oz                                 $4,200
